Engineering Mechanics - Statics: CE 201-01-023 

Homework 13 

Key Solution
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DEPARTMENT OF CIVIL ENGINEERING - KFUPM
ENGINEERING MECHANICS - STATICS
Summer Session 023
CE 201 - 01
HOMEWORK ASSIGNMENTS NO. 13

» SCETIONS 8.2; 9.1-10.5:

Problems on static friction; Center og gravity; Centroid: Area moments of Inertia

e DUE DATE: August 23, 2003

Study the above enumerated textbook’s material then:

1. Solve Problem 8-137 [textbook page 432].
2. Solve Problem 9-6 [textbook page 452].

3. Solve Problem 9-30 [textbook page 456].

4. Solve Problem 9-48. Hint: use a tabular form.
5. Solve Problem 9-67. Hint: use a tabular form.
6. Solve Problem 10-19 [textbook page 507].

7. Solve Problem 10-40. Hint: use a tabular form to determine y, and I,.,..

NOTES:

e Homework assignments are essential to the learning process in this course.

e Drawing of FBDs is an essential tool of Engineering Mechanics.

e You are encouraged to always start early on solving homework problems. You may always
see me during office hours to discuss any problems that may arise during the solution of

your homeworks.

o Attach this sheet with your solution so that it follows the cover sheet of the solution you
submit.

Dr. Saeid A. Alghamdi Bldg. 16 — 150 Phone: 2570 Saturday, August 16, 2003

e-mail: saghamdi@kfupm.cdu.sa
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